I \O.HL-CN-DPSP 09/2023

FD &SI ahHk

ZECE

S, HER
B e
KRB, R REELHK

L6
=2 LS
@ LY § b
o =<1
< L4 L3
L2
FHFEAME AL AR [ M
A
RVES o
.
v, |
L =
o
RS
KK B1 D12 D22 D32 L1 L2 L3 L4 L5 L6 WA® ]
M5 2.7 8.5 14.5 5.8 385 25 4.4 17.5 11.5 15.7 4
M6 3.2 8.5 14.5 5.8 37 25 4.4 17.5 11.5 15.7 4
M8 4 125 19 7.8 49 34 6 235 14 20.5 4
M10x1.25 5 21.4 325 13.8 69.5 495 9 34 23 31 4
M12x1.25 6 21.4 325 13.8 745 50.5 10 34 24 32 4
M16x1.5 8 33.8 45 22 103 71 10 53 32 445 4
M20x1.5 10 33.8 45 22 120 80 19 53 41 53.5 4
KK < 1 | 2 e 3 = 4 Max. FoVFRi Al 4 618N | i (] B [mm] B AME P[mm] pithe]
M5 7 13 5 8 1200 0.04...0.2 0.5 FD-M5
M6 7 13 5 10 1200 0.04 ...0.2 +0.5 FD-M6
M8 10 17 7 13 2500 0.04...0.2 +0.5 FD-M8
M10x1.25 19 30 12 17 5000 0.05...0.25 +0.7 FD-M10x1.25,
M12x1.25 19 30 12 19 5000 0.05 ...0.25 +0.7 FD-M12x1.25
M16x1.5 30 41 19 24 10000 0.05...0.25 +1 FD-M16x1.5
M20x1.5 30 41 19 30 10000 0.05 ...0.25 +1 FD-M20x1.5




